
Use the graphing calculators to graph each of the image eguations. Fill in the
description' column of the fol rhart:
Basic Graph lmage Descri ption of Transformation
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Part 1 Gnepninc Car,curerons

RULE
For the general function y = f(x):

y = f(x) + k moves graph k units up
Y = f(x) - k moves graph k units down
y = f(x - h) moves graph h units to the right
y = f(x + h) moves graph h units to the left

Part.2 Mappinc NorerioN

ln order to create image graphs of functions, we need a method or technique to
translate the original points from the basic graph into the new points for the
image graph. We can use mapping notation! ,

Example Graph the function y = (x - 3)''* 2
r rqh+ 3,  'P 2
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MAPPING NOTATION (x,y) ----------) ( x+3, q+2.)
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Part. 1 GraI'niNc Car.cularots

Use the graphing calculators to graph each of the image equations.^Fil l in the
descrlptron' column of the followinq crhart:
Basic Graph lmage Description of Tra nsformation
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RULE
For ihe general function

Y= - f (x )
Y = f(-x)

Y = f(x):
reflects graph over the x-axis
reflects graph over the y-axis

P ar1. 2 MappiNc NorerioN

Example 1 : Graph the function y = - (x + 1)' -2

Example 2: Graph the function y = I -x + iI | + 1

"* Simplify by factoring y = | - (x- 3) | + 1

Example 3: Graph the function y = -. fi -f - 3
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